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Task
e 1) Foundational
® 1.1) command parser
grammar
e 1.2) reply parser grammar
e 1.3) Decide on parser APIs
® 1.4) Twisted Actor API
e 1.5) data dictionary
usage?
e 2) Hub
® 2.1) cleanup existing hub
for 2.5m, with reply
grammer and data
dictionaries
® 2.2) integrate protocol
buffers
® 2.3) Integrate ICCs
e 2.4) Update the user/
program ID model?
® 2.5) Modify subscription
model?
e 3) archiver
e 3.1) Startw/o DB
e 3.2) Add client
prototypes
3.3) Feed w/ TCC replies
3.4) Database
benchmarks
e 3.5) Database
implementation
3.6) Add TPM inputs
3.7) Implement
command
expressions
e 3.8) Strip charts
e 3.9) Hub actor
e 3.10) Capture tap logs
4) alarms actor
5) FITS Actor
® 6) guide loop Actor
® 7) xop Actor(s)
e 8) ICCs
e 8.1) BOSS ICC
e 8.2) MARVELS ICC
e 8.3) APOGEE ICC
® 8.4) Weather
e 8.5) IRcam
® 8.6) System monitoring
e 8.7) DIMM
e 8.8) Plate data
® 9) Image archiver
e 10) TCC
e 10.1) Fix imager bug;
upgrade to current
version
e 11) TUI
e 11.1) Refactor to separate
common code base
from telescope-
specific code
e 11.2) Modify to use
common reply
parser and common
actor data
dictionaries
® 11.3) Create interfaces to
"XOP" commands
® 11.4) Create an interface
to BOSS/SEGUE
e 11.5) Create interface to
guider
e 11.6) Create interface to
watcher
® 11.7) Create an interface
to MARVELS
® 11.8) Create an interface
to APOGEE
e 12) MCP
® 12.1) Add VxWorks task
and queues
e 12.2) Modify murmur to
write its TRACE
output to a socket
on the MCP ICC
e 12.3) Modify MCP to
generate its most
useful output in KW
format
e 12.4) Add Actor for
lamps, covers,
murmur, etc.
® 12.5) Rewrite interlocks
clients to talk to the
hub.
e 12.6) Goal: change TCC
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13) BOSSable

14) Complete BOSS
15) Shutdown starts
16) Shutdown ends
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